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QUESTION 1

Given the code fragments:

interface CourseFilter extends Predicate {
public default boolean test (String str) {
return str.equals ("Java");

}

}

and

List strs = Arrays.asList("Java", "Java EE", "Java ME");
Predicate cfl = s - > s.length() > 3;
Predicate cf2 = new CourseFilter() { //line n1
public boolean test (String s) {

return s.contains ("Java");

}

h

long ¢ = strs.stream()

filter(cfl)

filter(cf2 /lline n2

.count();

System.out.printin(c);

What is the result?

A2

B.3

C. A compilation error occurs at line nl.

D. A compilation error occurs at line n2.

Correct Answer: B

QUESTION 2
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Given the code fragment:

ZonedDateTime depart = ZonedDateTime.of(2015, 1, 15, 3, 0, 0, 0, ZonelD.of("UTC-7")); ZonedDateTime arrive =
ZonedDateTime.of(2015, 1, 15, 9, 0, 0, 0, ZonelD.of("UTC-5")); long hrs = ChronoUnit. HOURS.between(depart, arrive);
/Nline n1 System.out.printin("Travel time is" + hrs + "hours");

What is the result?

A. Travel time is 4 hours

B. Travel time is 6 hours

C. Travel time is 8 hours

D. An exception is thrown at line n1.

Correct Answer: A

QUESTION 3

Given:

class Engine {
double fusellLevel;
Engine (int fuellevel) { this.fuellevel = fuellevel; }
public void start() {
// line nl
System.out.println("Started");

}
public veoid stop() { System.out.println("Stopped”"):; }
}

Your design requires that:

fuelLevel of Engine must be greater than zero when the start() method is invoked. The code must terminate if fuelLevel
of Engine is less than or equal to zero.

Which code fragment should be added at line nl to express this invariant condition?
A. assert (fuelLevel) : "Terminating...";

B. assert (fuelLevel > 0) : System.out.printin ("Impossible fuel);

C. assert fuelLevel

D. assert fuelLevel > 0: "Impossible fuel" ;

Correct Answer: C

170-809 VCE Dumps | 1Z0-809 Practice Test | 1Z0-809 Exam Questions 3/5


https://www.passapply.com/1z0-809.html
https://www.passapply.com/1z0-809.html
https://www.passapply.com/1z0-809.html

VCE & PDF https://lwww.passapply.com/1z0-809.html|
2024 Latest passapply 1Z0-809 PDF and VCE dumps Download
PassApply.com

QUESTION 4

Given:

interface Doable {

public void doSomething (String s);

}

Which two class definitions compile? (Choose two.)

A. public abstract class Task implements Doable { public void doSomethingElse(String s) {} }

B. public abstract class Work implements Doable { public abstract void doSomething(String s) { } public void
doYourThing(Boolean b) {}}

C. public class Job implements Doable {

public void doSomething(Integer i) { }

}

D. public class Action implements Doable { public void doSomething(Integer i) { } public String doThis(Integer j) {}}

E. public class Do implements Doable { public void doSomething(Integer i) { } public void doSomething(String s) { }
public void doThat (String s) {} }

Correct Answer: AE

QUESTION 5

Given the code fragment:

Deque<Integer> nums = new ArrayDegae<>();
nums.add (1000) 7

nums.pash (2000) ;

nums. add (3000) ;

nums .pash (4000) ;

Integer 11 = nums.remove{};

Integer 12 = nums.popl);
System.out.println{il +

+ i2);
What is the result?

A. 4000 : 2000

B. 4000 : 1000

C. 1000 : 4000

D. 1000 : 2000

Correct Answer: B
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